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(1) 22— 2 —3=0% A TEKOHM (1, y) ZTRTRD L.
(2) 2% —y? — Az + 6y — b = RS E L.
(3) 22 —4y? —dx+ 12y — 8 =0 % A TEHOM (z, y) 2T TRD k.
(1 (x+Y)x-Y)=3
x+Y,x-4 13 BETHINS,
(xry, -4 =4 1,.3).08.0) . (<D (5~ 1)
SAXYY=(2:=1), (2:1)i (=2,1), (~2,%1)
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(2) XafEAFo NG 1SEFFE LT,
(%)= x*-4x-(Y*-6y+5)
= a2 =4x=(Y-1)(Y¥-5)

[x- (-0} x+(y-5)}

(x-Y+1)(x+Y4-5)

3) Y'=29 ev<e,
x*-y?-4x+64y-8=0
- X'-YP-qx44y’-5=3
(2141, (x-Y+1)(x+Y-5)=3
o (T -2YH)( X+ 29~5)= 3
£ T, (X-24+ 1, T+ 29-50=(1.8) . (3.:1): (~4,3), (=3 ,~1)

c(x.9)=(4,2),(4.1),(0,1).(0,2)




